A shop buys a washing machine for £250 and sells it for £325. Work out the percentage profit. 

a) [image: image1.wmf]


23 %

b) [image: image2.wmf]


75 %

c) [image: image3.wmf]


30 %

d) [image: image4.wmf]


25 %

2. Find 30p as a percentage of £6. 

a) [image: image5.wmf]


30 %

b) [image: image6.wmf]


50 %

c) [image: image7.wmf]


6 %

d) [image: image8.wmf]


5 %

3. A coat originally costs £70. If it sells in a sale for £56, what is the percentage discount. 

a) [image: image9.wmf]


20 %

b) [image: image10.wmf]


£14

c) [image: image11.wmf]


25 %

d) [image: image12.wmf]


30 %

4. A washing machine sells for £240 after a discount of 20 % on its original price. Find the original price. 

a) [image: image13.wmf]


£198

b) [image: image14.wmf]


£300

c) [image: image15.wmf]


£288

d) [image: image16.wmf]


£260

5. A pack of washing powder is advertised as '20 % extra powder'. If it contains 1.32 kg, what would the original pack contain? 

a) [image: image17.wmf]


1.02 kg

b) [image: image18.wmf]


1.1 kg

c) [image: image19.wmf]


1.06 kg

d) [image: image20.wmf]


1 kg

6. A large company says it has increased the number of people it employs by 35 % to 3 240. How many people did it employ before the increase? 

a) [image: image21.wmf]


2 000

b) [image: image22.wmf]


3 205

c) [image: image23.wmf]


2 800

d) [image: image24.wmf]


2 400

7. A shopkeeper buys a radio for £30 and wishes to sell it for a profit of 40 %. How much should he sell it for? 

a) [image: image25.wmf]


£12

b) [image: image26.wmf]


£40

c) [image: image27.wmf]


£42

d) [image: image28.wmf]


£70

8. A computer costs £800 before VAT, if VAT is 17.5% how much VAT will you have to pay? 

a) [image: image29.wmf]


£940

b) [image: image30.wmf]


£817.50

c) [image: image31.wmf]


£17.50

d) [image: image32.wmf]


£140

9. A car salesman is paid a commission on sales of 3 %. How much will he earn if he sells a car for £12 950 ? 

a) [image: image33.wmf]


£388.50

b) [image: image34.wmf]


£300

c) [image: image35.wmf]


£3

d) [image: image36.wmf]


£129.50

10. The value of a car bought for £ 12 500 falls by 15 % in a year. What is the new value? 

a) [image: image37.wmf]


£10 625

b) [image: image38.wmf]


£1 875

c) [image: image39.wmf]


£12 485

d) [image: image40.wmf]


£14 375
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